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QUESTION 1

Which of the following can activate a trigger?
A. A row is inserted

B. A table or view is created

C. A check constraint is defined

D. A referential constraint is violated

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/intro/src/tpc/ db2z_triggers.htmi

QUESTION 2

Which type of constraint is NOT enforced by DB2 during SQL processing?
A. Check

B. Referential

C. Primary key

D. Informational referential

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_9.7.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0020149.html

QUESTION 3

An external stored procedure is invoked using a CALL :hv (host variable). Which special register identifies the location
of the procedure?

A. CURRENT PATH

B. CURRENT SCHEMA

C. CURRENT PACKAGESET

D. CURRENT ROUTINE VERSION
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/sqlref/src/tpc/ db2z_sql_call.html
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QUESTION 4

In a unique referential constraint, which type of key does a foreign key reference?
A. Child key

B. Collation key

C. Parent key

D. Secondary key

Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_11.1.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0020166.html

QUESTION 5

Which of the following automatically maintains historical versions of data over several years?

A. A partitioned-by-range table

B. A partitioned-by-growth table

C. A system-period temporal table

D. An application-period temporal table

Correct Answer: C

Reference: https://books.google.com.pk/books?id=ravEAgAAQBAJandpg=PA30landlpg=PA301landdqg=db2
+automatically+maintains+historical+versions+of+data+over+several
+yearsandsource=blandots=eMUVegTHYYandsig=ACfU3UO0s1wYpk3CCUdmUpXWXB4TV90Yfdwandhl=enandsa=

Xandredir_esc=y#v=onepageandq=db2%20automatically%20maintains%20historical%20versions%200f%
20data%20over%?20several% 20yearsandf=false
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